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- O 5-07 ~17
1. Fillin the blank below. 3~ H-3
The numbers 0, 1,2, 3,4,5,6,7, 8, 9,10, 11, 12,... are called numbers.
The numbers 0, 1,2, 3,4,5,6,7,8,9, 10, 11, 12,... are called (1} numbers.
(1) whole
() natural
Answer: (1) whole
. p=A+B8+C

2. Find the perimeter of the figure.

| o
v
”
ok %
v
7

e \Q\,f

ﬂ 7 feet 8 feet
P=/srro
=

10 feet = 2,5-_.;

The perimeter is feet. C

Answer: 25
) : E P =A+E—+C D+ E FI~
3. Find the perimeter of the figure. 10 meters P= 52 li+ S+ sF JO+16
DSmclers .P___ /G +r’—(—r7f/d74/6
5 meters 16 meters £ P=21 -+ 5 +/2+/¢
iS5 F- 26 +/0rrt
B¢ L, P 36 +/¢

o

A
The perimeter is[ m. A= Jo-5= &

Answer: 52

of 36

F= 7+ T+ so
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4. 9 meters
Find the area and the perimeter of the rectangle shown to the right.

5 meters b\J

A=Lw
The area of the rectangle is I: (1) /4 = ( 7)/ « )

"'\
— G- YA
The perimeter of the rectangle is {2) e

(1} O meters. (2) O square meters. P s 2(+2W
O square meters. O cubic meters. P=2(9)+2(S )
(O cubic meters, ) meters.

=177/
Answers 45 C / - Zi )
(1) square meters.
28

(2} meters.

5. One triple fudge brownie contains 104 calories. How many calories are in 13 triple fudge brownies?

L3 X /7
! ’calories /"'J,; Y 312

roy(iz) s melt

(v)= 1970 Yy
Answer: 1352 @3 7L D [ 2 5L
o _Ta Find the average value of the following list of numbers. M+ [ 5+ 20 =t-24 1 2_6-'“7"7 - 2 ¢
20, 22, 47, 26, 11, 18 G &)Y
The average value is ‘ f / 5/9/ - / ;j/_
6
—~(2Y)
Answer; 24 s 5/ - ——(?/t’n,
7. Simplify, @‘ SOy -

50+4-4

SO +/¢ -
G6<

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(A, 50+4-4=
() B. The expression is undefined.

Answer: A. 50 +4+4=

of 56 2/28/2019, 9:08 AM
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8. Simplify. (m e .»7 —f 5eG =

5:7+5+9 39"'45’-'}':
Select the correct choice below and, if necessary, fill in the answer box to t;omlplete your choice. 3 5‘74 & S

35
() A. 5:7+5.9= L ¥y
e

(O B. The expression is undefined. 7 7

Answer. A.5¢7+5+9= B8O l

' 5. Simplify, C/DZ_”/’?DA} 3‘1_[39' ;(/o- cjj;

3*-[34-(12-6) 3(/_[3 ¢ —(6)] -
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
3?"'[3¥‘_67_ (N
OA 3*-[34-(12-8)= 37,__ Ez,gj = [wl§
() B. The expression is undefined. 3 ¢ __ 2F- P*"”'E
2:3+3.2 — 2F8=
Answer: A. 3* - [34- (12 -6)) = 53 FlI— 28~
= S o 3= _ -
10. Evaluate the expression forx=5and z=3. ér M pA S j 5/)( @ _"c’( =
5xz ~ 4x £ g)(?’) - ?/S‘) =

SCrs) = ¢r) =
sxz-4ax= | 76 — ¥s)=

Answer: 55 7 s—_¢9 =
7T ——— — e — P ——————e
11. Evaluate the expression forx=5,y=3, and z=2. )(,_f, 3 Q ‘m
X+ 3y z
‘ ($)7#3(2) _

-

x+3y _ (2
S — P

5 =
Answer: 7 ___Cz_}ﬁ = / 7

Zz

e - = = = _i“\-._
X =% Xr 3=
(7 ~sr1) 73 =

:l;lpe:;;y?, x2_4x+:;=:], (7/(,}) ._‘_/(?)7«-3 =
ImMpu OUur answer., 95. - Zf ’f.g -

Answer: 24 2{ T =
= o

of56 —IEI0TY, U AM

12. Evaluate the algebraic expression for the given value.

x2 -4x+3, forx=7
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13.  Fill in the blank below.

The numbers ...- 3, =2, -1,0,1, 2, 3.... are called

The numbers ...= 3, =2, -1,0,1, 2, 3,... are called (1)

(1) O whole numbers, () natural numbers.
{) positive numbers.
L integers.

O negative numbers.

Answer: (1) integers.

https://xlitemprod.pearsoncmg.com/apifv | /print/math

14, Simpliy. @”MO/LS 34T7e5—/1 =
3+7+8-14 —— 37 56 —/¢ -
R — $G/y =
Answer: 45 @
— ik —
- 15. Solve. Check your solution, CA{’L‘_—
x+3=23 XZ/};Z}ZS 2 ] X+%= 25
—F = 2w 3 2%
Thesolutionisx=l : x’f-x:_z\‘)\s ( Lu"fi - 23
Answer: 20 2.5 = 2@3‘, y
16 .S.;Ive. Check your solution. /3 :7 -.é- CﬁéET h
13=y-6 i :770/%( 3= (19 ~¢
The solution is y = A @ (3 /$-C
e e 0 W
17. Solve. g - 6_) CAsck o _
6x= 60 6 6 6 X< 60
The solution is x=:1 ? ’;B\ {(GN) E G -
o= o
Answer. 10 6

of 56
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18. Solve the equation. First combine any like terms on each side of the EQU?NOH ‘( 6 —

CA_QQ
—5—€ 3
x-6=-5+3 Y—C ::£+3 (7)~C = —5—3
The solution is x = ] X—G = ¢—GC = —5+3
K= Lt C
Answer: 4

= -l = -2
19. Solve the following equation Z(-— [ To

2x-12=0

Thect
Rx~/L /1 20T/ Zx—-)7 O
= 2ZX=(2 2(6)—/1 = =
Answer: 6 & :-[Z! /Z'J/L -
. TS 070 Gad
'-..__‘_-_-__'___,_—"'
20. Solve the equation. ' C/\; /é_
5n+30=50 5’77—{‘ }0 i _/74_630 S
— SH7U—26 =sv—20 ) §(¥) +30 = g0
L ¢+ = o o~ 3= g0
Answer: 4 ”,1 Z/J g—u -5
o /7 = ¥ ) ovod
21. Solve the equation. ' / = =7
| lxih24+q2xt=2-2x—3 )(’f Y+l = 2—1x—3 / X L Ko
Xty —+20=2—tx—3 | Ex=-2c
SK—+19 = ~1x — |
Answer: -5

= s

e

3)(*'(‘2,‘7/*-2’9-"‘ -7 X —(—Z,k,c |

. 3)(" —'32(-—.2( a2 ) E
22. Solve the equation.

S
LKA 39 —( = /59 =iIl—5
25+3y-1=15y-11-5y j ‘ 7 7

-—79: -35
3 —fW"/c’j-rr |- =72 - 35"
y= ] 372 o~ ng A-vy | 77 et
Answer: 5 3? /‘-’y - 35’ / T 5§
29 —/99 = . /b =3r—/0*’7
23. Solve the equation,
— 9 e
-9¢+5=-13 :(_ ::-;_Y,/:?' —r 2, — S_._
—9C = /7%
Answer; 2
—9 :\‘l
C=2_ .~

of 56
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2 .
24. Find the prime factorization of the following number, / iy 27 3/ J; 3 /_f/ / 6 .
110 (/70

S-S—
The prime factorization of 110 is l ;’ C/’/
Answer: 5-2- 11 I //U = 2 Q'S '//

e ———

n ) : Frimes T
28 Divide - % + 36. Write the quotient in simplest form. 7/'; "5" 3 6 < (Uﬂ B ;3' 3’/7’ “/ /. -
7 L (S RUE e
18 . I A (T 23
T +36 =I (Type an integer or a fraction.) /c? - ( 3(2 7 L‘f
— ! 3
Answer: 1 /_é)ﬁ - ;:"-GL = | 3 ’L
T 38 T : V&= 2.3-3
(;/)(’Z/)ﬁ_/fj_?v X P Bg-2:2. 33
e . == _f/ (f —b L ’j@;ﬂ—a =
26. Perform the indicated operation. 7 - £ -
P) (I
7+ -6— 77 G
1 T S '(" -
6 - it
7+ T ] {Simplify your answer.) % - c 1z
Answer: 77
6
27. Perform the indicated operation. __&_ s ..[.L =~ /?:’;':1 !
37 9° VAV
T 2 A
379 Ze — ° 2(1
AN fEn
%-*- -191 = \:] (Type an integer or a simplified fraction.) _Z-_)_/. .@é/, { q )
/g iy 3.1
Answer: 6 )r3) -
11 7 F /e
s T
28, 1 B
Find:{of16. ﬁ’t-—,,(- ZJ)J(;?JID/}'*
; Y /¢
7 of 16 is : (Simplify your answer. Type a whole number, fraction, or mixed number.) 2—(3— 1
<, /6~
_ A o
Answer: 4 / /_C . ‘2_62‘:
. - 'T;": d f/ = ]
L, Gl D - /G~ 2-2.22
(5 Lot . =< 2L
B ojos &~ &)
iof 56 [ A
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20 %mgt?f’7lf/z
29, 3 e ~ . / /
Find 0 of 30. Write the answer in simplest form. @ - 1(? ()]
<
7 @(’5) (5) "(7 7 (s
7o Of 301s l I (Simplify your answer.) ( 2)5)

(3
3 ) 3)_ g ——
Answer. 9 (}'//t/)/ ,.7-— il @
- S _-_-_‘—‘__ .- -
— S mem o _J_-_"'_‘—‘—-—-—-_._________‘_
30. Subtract and check the following. SO '
14-21 —Z o I o
14-2.1= (Type an integer or a decimal.) @
Answer: 11.9
___B e
31. Alandscape architect is planning a border fora — €———— 23.66 lcet ——» f A e C
flower garden shaped like a triangle. The sides \ / )% —+23.64 -+ {7
of the garden measure 14,5 feet, 23.66 feel, -9
and 22.9 feet. Find the amount of border 14.5 feet 9 fee ~ 6/ 06 r L
material needed. A \ / c /%, s
23. 6 ¢
The amount of border material needed is l | feet. j:__?;g_f_t-)—
(Type an integer or a decimal.) G / o 6
”
Answer. 61.06
32. Use the values of the coins given below. Write the value of the group of coins shown
to the right. To do so, it is usually easiest to start with the coin(s) of greatest value @
and end with the coin{s) of least value. el 5 o/ O e US

Penny Nickel Dime Quarter X & x # y.4 J
oS

@@@@ - 50 ?0

LSO
$001  $005 $0.10  $0.25 ago
The total value of the group is 8] |, ’—1: AR A
(los 2
Answer: 1.05 ) § I -
33. Multiply. ;éff
{(—1.8)(1.27) 5_?3_;-?

(-1.8)(1.27)= !:’ (Type an integer or a decimal.) [/(—,1/6’"

Answer. -2.286

"of 56



MATH7-8THGRADEWARMUP147Q-Alfredo Alvarez https://xliletprod.pearsoncmg.comiapifvl/print/math
(

{ f
34, Multiply. h 255
Z.
{(—2.35)-2.3) K———Z"
. X r 70 .y
(-2.35)(-2.3) =| (Type an integer or a decimal.) >
g7 —
| T O S
Answer: 5.405 (2, 2 3‘/(-—?, 3) —‘{ 5;90 S,f) S P
35, P=1/8 Cz D
Find the circumference of the circle in terms of x. Then use :
the approximation 3.14 for & and approximate the C —TT (I é),i
circumference. C I ? /7 }
C =3/¥)D
a. Find the circumference of the circle in terms of n, C F 3 o/ v / / k )

The exact circumference is ft.

d__,_.-: S_’_:__Z_ ?
C C=5¢ i

b. Find the circumference of the gircle using 3.14 as an approximation for .

{
— 3./7
The approximate circumference is ft. (Round to the nearest hundredth as needed.) , ‘?
ls |2
Answers 18x s 2_
-_.--'-"'_'_-_-T—-r“"\
56.52 (é 5.-5
36.  Find the circumference of the circle in terms of 1. Then = Z- f ~— . C = 2vre
use the approximation 3.14 for x and approximate the / ™ Cima? '8 ( 5. 5}
circumference. / \ &~ % h
8.8 gurds o C =17, 677
I'l"-\. ._."I.
\\_x ,x"/ Cc=2 Ty
a, Find the circumference of the circle in terms of . Cr<T Z { Z 70 653 L)

pETET T
The exact circumference isl yd. C - 85,26

b. Find the circumference of the circle using 3.14 as an approximation for =.

The approximate circumference is l }yd. (Round to the nearest thousandth as needed.)

Answers 17.6x

55.264

i of 56 2/28/2019, 9:08 AM
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37. A 1-ounce serving of cream cheese contains 9.8 grams of saturated fat. How much saturated fat is in 12 ounces of cream

it

—

cheese? !/ /T Ci . 5

— 1, 94 ¥ ‘1
i /(K/)ic?f//L) Cruss mrudi- 79 6

| ) gkl
Answer: 117.6 / /7 6 '77-;.-6—

e e _f__?_ - S
38. The screen of a portable digital device is a rectangle that measures 4.5 inches by 3.5 inches. Find the area of the screen.
Z_V 'e 0/"-3.6 ?“'(-
The area is square inches. (Type an mteger ora declmal } )g___?_{{_
}
270
Answer: 16.2 3] c? ! {)(3 J/ [ 2h——

__Cﬁ:/a z 162

e —TT

39. The diameter of a ferris wheel is 310 feet. Find its circumference. Give an exact answer and an approximation using 3.14

40.

for . C =MD C =3./¢D |
The circumference is lfeet. C:-17( 30 ) C= Jat¥ ( 76/
(Type an exact answer in terms of .} C. . C,-\ 7 3 g2 /
. ) ) C < 3/ 3./
The circumference is approximately I feet. .
{Type an integer or a decimal. Round to the nearest hundredth as needed.) )( 3o
/0‘_'5_6
Answers 310x 3/ 7
973.40 /i‘ﬁ_z;_———a—
97 3.

A meter is a unit of length approximately equal to 39.37 inches. If someone is 1.83 meters tall, what is his or her
approximate height in inches?

Using the given conversion, someone who is 1.83 meters tall has a height of inches.
{Type an integer or a decimal.)

Answer; 72.0471

tof 56

/ A
39,37 4

[(A/) 3‘?37(/f3)

W=7 20077

2/28/2019, 9:08 AM
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41.  Consider the circles at the right.

e[S

a. Approximate the circumference of each circle. Use 1= 3.14. <=27r1

c-20300r (V=9
< 23,07 X/5)

The circumference of the smaller circle is approximately ! meters.
{Round to the nearest hundredth as needed.)
The circumference of the larger circle is approximately | meters.

{Round to the nearest hundredth as needed.)

b. If the radius of a circle is doubled, is its corresponding circumference alse doubled

E"//Yes 5 /?
O No ( ?%zJ)

Answers 94.20 -

188.40 ————
Yes
e B S
42. Find the decimal equivalent of the following fraction. g ’ 4 s \) '
20 ~{7z2)
13 [V O
o — 7o)
Answer: 0.65 O re )
R 0 R 2

¥ 93 s _é? 7 B —
43. Solve the following equation. g 7 )< "f ¢ () _h_‘T_

8.9x= -83.66 7'__% g - _:fg" ‘; 4 - (. C}t f_“"g_-—-"""'
i . A 79 (1)
= : (Type an integer or a decimal.}

Answer: - 94 O e .

44, Solve the following equation. q'z7 _ngz—- ~ ("57 "‘5/;/
42y+8.2=6.2y-5.1 Lf"z? ~f f//(" Y A Cely —i( —B-0

The solution is . (Type an integer or a decimal.) 9, 'Z‘;;' Z 2 Z: f.gjz;l 3./33 3 —~¢ L7
- — G, 7 - " - L “

Answer: 6.65 —2%1= (3.2

— 2/28/2019, 9:08 AM
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45. Find the mean, median, and mode for the following set of

16, 11,21, 13, 19 (L (73
— {ﬂ{g / /
The mean isI | /M-C - | &

"
(Type an integer or decimal rounded to one decimal place as needed. Use a comma to separate answers as needed.)

The median is :

(Type an integer or decimal rounded to one decimal place as needed. Use a comma to separate answers as needed.)

_I,!I{IIJEI'S. If necessary, round the mean to one decimal place.

/7j 2 ( _F;?f{ Wt I_(

Find the mode. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A. The mode is

(Type an integer or decimal rounded to one decimal place as needed. Use a comma to

separate answers as needed.) // o+ / 5 ‘7"/6 -f'/ﬁ 4 2 ’  (ediae
-

(") B. There is no mode.

Answers 16 _é—;—;d - 7 é,-/, A x\\,l

° Meen K10 770y
B. There is no mode. @ A
S — e r

46. Solve the proportion. s X
7 x i /G _
816 7(/(,)’- 2’()2/ Crass mudd

x= | (Type an integer or a simplified fraction.) / /1~ Vi
Answer: 14 ,—7' - 7 / (f e

47,
Medication is prescribed in 4 out of every 10 hospital About [ of these visits would be expected to
emergency room visits that involve an injury. If a large include a prescription for medication,
urban hospital had 910 emergency room visits involving an A 2 fg_//
injury in the past manth, how many of these visits would you j‘- —_ .
expect included a prescription for medication? /o f/..?
Answer: 364 ?( 5/0—) = fofa) W
3€yo = 1 e -
— - e
. . . . . g 359
48. What is the sales tax on a jacket priced at $350 if the sales tax rate is 7%? /‘-22‘
The sales tax is $ ; Taxy < PR 2 [ el4
Jay = (f? )"-V( 7%/ "‘(’)/U'O‘FJ
Answer: 24.50 5 ( | ) Y,
Tax ~ ( Ly y .07 27
Mz -

1 of 56 2/28/2019, 9:08
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—

49. A stereo normally priced at $479 is on sale for 10% off. Find the discount and the sale price.

Thedlscountls$::] /‘ﬁ’ 'ﬂp_ pp (/U) J,15CUM-\.¢L :\

H=2475 — ‘/77
e sale price is $ |
The sale p ] 4579 f‘f7 76 ‘f7o'7“£___,

Answers 47.90 ("/'q _, f C{ 3 / p / L-j\--.-\-\.\_.

431.10 —— e e

57 27« ;/l T

B

50. A company borrows $92,000 for 10 years at a simple interest rate of 10.5%. Find the interest paid on the loan and the total

amml.lntpaid. - | A,: /7'7‘ /p/rf-

The total amount paid is $ : /4"_- 72000 - qZOuo_g 0)’)
AR CATAT D
—r

Answers 96,600
188,600

51' —_'__—--—.._
The circle graph is a result of surveying 900 college

students. They were asked where they live while attending 7L
college. Use this graph to find where most of these college MOl anpusienio IRz — ,VIJ5

students live. {8 Campus housin (390 ) é—':}'—"

[ Other arrangaments 17
B Own off-campus housing 59

[l Parent or guardian's home 310

Choose the correct answer below.

(O A. Own off-campus housing
W_anﬁus_ théiﬁg_ g

O €. Parent or guardian's home
() D. Off-campus rental

(O E. Other arrangements

Answer: B. Campus housing

2of 56 2/28/2019, 9:08 AM
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52, — -
The circle graph shows the number of students at Rockford Major and # of Students
College who are enrolled in various majors. Find the ratio of @ Business 3900
History majors to English majors. /J/W @ Computer Science 1800
LAy E [ Science 900
The ratio is . € h) /' 54 ] English 2200 > <
u Q—— =iy ==
{Type an integer or a simplified fraction.) 7 v - « Il History 700 'é ]
L ZrZ 0u i B Social Science 2500
7 (/%)
ZT (p5
"7
a—— £
27
Answer: 7
22
—-—'_'_-_._._._ B i
" _-_-_-—_'_‘—'—-—
53.  The following circle graph shows the relative sizes of —— _ ="
the continents of Earth. %M—%“" =

Australia 5% J"""="""'
[ Europe 7% )
B Antarctica 9%
[l South America 12%
B Africa 21%

What percent of the land on Earth is accounted for
by Australia and North America together?

/6 %
YA

Answer: 21

e ——————E T ——

54. The total amount of land of some particular countries is approximately 57,000,000
square miles, Use the graph to find the area of the Country F.

The area of the Country F is approximately I square miles. X

Answer: 6,840,000

s — i
3 of 56 2/28/2019, 9:08 AM
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——— ——

R —— : -
(@ Adults fiction 30% 16—
O Reference 16%

mowersn |
"W Children's fiction 22% [~ ~

# Nonfiction 24%
[
O

#?&LUL

The percent of books which are classified as some type of fiction is % :

e

(7 ’”f’z’i

55. The circle graph to the right shows the
percent of the types of books available in a
library.

What percent of books are classified as some
type of fiction?
i ————

56. If this library has 190,000 books, find how many books are in the

P Ry : Nonfiction 25%
category o%eference @en‘? W Nonfiction

Il Children’s fiction 22%

@ Adulr's fiction 33%
@ Reference 17% 2
f. Crlher 3% # [ —

The number of books in the reference or other category is | books. ”f >3 “’Q, E)o SI/RON]
€0 7 Nl
J0uU O
Answer: 38,000 ] =,

57. L

Find the square root. 1/‘2—5 = [—] 5-
V25 .oz
(3

Answer: 5 (ﬁ- < 5’

e —

58, A ﬂ {_f-/gz:_ ct

Find the length of the third side of the right triangle.

(3%

C I+ /1vvy = ct
2.l sT =T ¢t
The length of the third sideis [ . (/ 22+« -
Answer; 15
(5= >

_._-_-_-_'_'_‘—'—-—.

4 of 56 2/28/2019, 9:08 AM
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§9. Sketch the right triangle and find the length of the side not given. If necessary, approximate the Iength to the nearest

thousandth. A =t ;3 c &
leg=12,leg=5 o

g 9 A~ (s) ~ s (/ D

What is the length of the side not given? Bii_ e /y(/ il il S
(Round to the nearest thousandth as needed.) /6 ‘f A G
/5 =
Answer: 13 .j_:_—-nh
_DEi S 6_3 = %_.—-‘-‘) o
o e 13 e U
60. Sketch the right triangle and find the length of the side not given. a (8
c<i3 G)L £ = (1Y
leg =5, hypotenuse = 13 A,c( 2 5’-—f g = /09
The unknown length is r g6l
(Type an integer or decimal rounded to the nearest thousandth as needed.) k T/ ey
Answer: 12 VAe< W 4
e —— B/l
T
61. Find the ratio of the corresponding /A :_- J_Lf_) -
sides of the given similar triangles. 6 ()
5

The ratio of the corresponding sides of the first triangle to the second triangle i is
(Type the ratio as a simplified fraction. )

Answer: 5
2
: - Sl q_ ~ . E-:-—r-... e
62.  Given that the pair of triangles is similar, a~ " T
find the length of the side labeled n. . s 3 )
3/ G = 30
o Gasr< 9U. 7~
S — 19/ 93
Answer: 4.5 ( E Vs z4, g
-:_‘__ ., SRS - S S o  —— T — S —— S —_
63 [t
- Given that the pair of triangles is similar, find the -

unknown length of the side labeled with a variable. g 4

’N a5 /2

The unknown length is unit(s). Q( V)) -~ 4 ( f L)

- §Y

Answer: 6 7 j 54/
s

T

b

=

2/28/2019, 9:08 AM



MATH7-8THGRADEWARMUP 147Q-Alfredo Alvarez ~_hups://xlitemprod.pearsoncmg.com/api/v1/print/math

64. Given that the pair of triangies is similar, find the length of
the side labeled n.

Ll [ 70
27 "
n= |_____
Answer: 21
: = | - R _
65.  Given that the pair of triangles is similar, find the - ’i""c—
unknown length of the side labeled with a variable. 246 :

2.6%x=1 ((13-%)
2.6/\2 2-‘67(:33(&7‘/

2.6X . },,Lf
The unknown length is l unit(s). 6

Answer: 13.4 ( X" /5. 47)

66. Given that the pair of triangles is similar, find the
unknown length of the side labeled with a variable,

{»’”7.5';(’ (i) ;‘ "
-7 rx— 73 — e

The unknown length is unit(s).

Answer: 10

_‘_-_'_‘_‘—-—-
67. A triangle is formed by the building's height
and shadow. Another triangle is formed by
the flagpole's height and shadow. Using the

-
—

following diagram, find the height of the 26 2

building. 6(3 N
Ei 2%) = 26057
1 X 74°

The height of the buildingis| | feet. .-?’i’(* - T

Answer: 390 /( = 2 ? v
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68. Draw a tree diagram for choosing a vowel, {3, e, i, o, ujandth

—

number of possible outcomes.

-

b

https://xlitemprod.pearsoncmg.com/api/v | /print/math

eqqumber (1, 2, 3 or 4). Use the diagram to find the

O A. @ OB : ' O D. 1
[ ¢ g i1 <
1 1 \\ 3 :
‘Il él ] 3 '
! 0 u
’ . Pt <4
[, 3‘ s\ e
! . : :J ' .'"- 1
/ 4+ : // u / ' {E \ : <
2 p 3
\ o A . BN -
p u \ 3 éi ! e l
a 1 Q
1] P \\.
\‘ g . \‘j veET? s
§ 3 i Y <c 4 1
. i - u
" : f’@ < 2
Based on the tree, what is the number of possible outcomes? ‘ ‘ !
Answers - <)

NN
s
e

[:Y
ﬂ'\ .
da tnp

i
N

RS
» e\
! 3
=
£ L
C. =3 . L L
20

ey
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i i et —
69.
Draw a tree diagram for spinning Spinner A 1 time. Use the se_the cortect tree diagram below.
diagram to Gnd the number of possible outcomes. 2 OB
A
&6 Spinner A R
B
Y
S ad ”\6 D
QN :
~y

O
=

Based on the tree, what is the number of possible
outcomes?

I

o
_ZL o
N

[
/N
[
T = -<1,=:= - T

~Exm<®EF

™~

Answers E R
B
A. Y
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. /T) ~ i
Draw a tree diagram for spinning Spinner A ée/timg. hoose the correckiree diagram below.

Use the diagram to figd the number of possiblé ocutcomes.
Spinner &

1< ==
/NG / ~3
o :
Lo <1 1 é : /“":
\ : / Y R
! 3
S / IS
Based on the tree, what is the number of possible 1 \:
outcomes? / I{: ;! <=
3 ~3
[—} g l \ / /3
e - / B R icoa
I | o - "“H\ e < 2 3 / < f
//f %, ﬁ\\ k! f-':'?::
f ‘ < e
/ \ . 4 r.:%
\ P <]
4 \ \ <

ek bd e b e b g o L Mg o= s

—
—

VB e T EE e g e

N
' [ ]

e

N o
A A
N

/
A
AN

S
\\ M""‘-—u
ta
-
/] .
N
ta — )

Tas
——
Lo

.

e
f/ 1 \\
(2]

L)

_.—;_‘7-""‘:
L
A\/I\/I\A\/I\/T\/R/I\/I\A\/I\A\

el
—
P R L N N R ITE o AL L I LR R TP

-

.
/'/T\"
I -'-

D5

A A A AN NN AN NN AN AN AN A

e Y B T B S e N B s e B N S e P N TR U R VP

tad

AN
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1
Answers ) <:
3

3+ [

P N
AN AN AN N AN AN

S

-_\\-
\'-.._.

1

1
i
11— 2&2
3
1
32
A, 3
27
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71. Draw a tree diagram for spinning 1 _
Spinner A one time and then Spinner B L spinner A pinner B,
one time. Use the diagram to find the 113
number of possible outcomes,

) A. ) B. O C. {3 D.

[
0™ e B0 ™ e fptad == b o =

Red

PN
= =
A
&\‘A“— ot -
~
e - —
R

Blue

Red
3 Bt Yellow
< ‘l'cllll‘::u

4L i

Yelon

A
- B
FONgAr

-t = e e e g —
1ad

"~
- = =~
o =]
-
fEm
ERa
¥
F ™~
ﬂ\

[

==} -

-
L i [¥]

AN

wWoemn e
Esgﬁ&?ﬁ

£

-l SN

- / Blee

| r”ﬂf@’/—y_yﬁ

g

! [
C Yellow é; é
(
T

gr’

21 of 56 2/28/2019, 9:08 AM




MATH7-8THGRADEWARMUP147Q-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v 1 /print/math

72. Draw a tree diagram for tossing a coin Spinnct B
two times and spinning Spinner B
one time. Use the diagram to find the

number of possible outcomes.

O A. OB..
H

-H
T

.
Py

< .

4=

~T

Answers

\:x:
-c/\:

-~
=
.-i/\\:
PO F N i R EEC o ™

16

PO Seiet
Gt 2 ¥, 5, 6,200 (2,1 /L

73. If a single 20-sided die is tossed once, find the probability of rolling a 20,

The probability is . {Type an integer or a simplified fraction.)

Answer. 1
20

22 0f 56 2/28/2019, 9:08 AM
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74. If a single 12-sided die is tossed once, find the probability of rolling a 6 ora 1. 2
- ———
The probability is . (Type an integer or a simplified fraction.) / 7
7l ¢ 5 72, /1 [ '
(/ i 3 ) V/ Z i/ )5S 7 (1 .
Answer: 1 - ( 6 /
6
C_: e b — il W LT A . L e - . '
75. if a single 6-sided die is tossed once, find the probability of ralling an edd number: 0 @ C
The probability is | . (Type an integer or a simplified fraction.)
S g
Answer: 1 é
2 (/g
— ——wee———— S - . ! L) -
78.  Suppose the spinner shown is spun once. Find the probability of
spinning blue.
The probability is : {Type an integer or a simplified fraction.}
Answer: 1
3

77.  Suppose that the spinner shown is spun once. Find the probability
of the event that the result of a spinis A, B, or C.

The probabilityis[ .

(Simplify your answer.)

Answer; 1

23 of 36 2/28/2019, 9:08 AM
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[

is spun once} Find the probability of spinning an even number.

- Prob of €0
Brd™™
Prosb L -

78.  Suppose the spinner sho

T

The probability is } (Type an integer or a simplified fraction.}

Answer: 1
3

79. A marble is selected at random from a jar containing 5 red marbles, 3 yellow marbles, and 6 green marﬂés _‘——“-———_hh.

What is the probability that the marble is red?
p y Vo 74
The probability that the marble is red is l . (Type an integer or a simplified fraction. —_—
) 5 ______}:____ _ e \fb(—{' Yeltso—~ Crea,
nswer: .
- S¥3t6
14 f-
—-—'—"_‘_'—-—.______ — el o N— b T
80. A new drug is being tested thatissupposed to lower blood pressure. This drug was given to 100 people and the results ——
are as follows.
Lower Blood Higher Blood Blood Pressure / 4”' 6/'”/
Pressure Pressure Not Changed S3enf
29 28 43 M
If a person is testing this drug, what is the probability that their blood pressure will be higher? 2 i
The probability is . (Type an integer or a simplified fraction.) /() 0 N
7) _
Answer. 7 é B
25. i +
81. Find the measures of angles x, y, and z in the figure. . - T e———
e |
X
g ~a »

The measure of angle x is |:] \ , ; 57

The measure of angle y |s

The measure of angle z is :]"‘ / S 7°

Answers 42 K”f /58~ /o’b B
128 X+ (38— 136" /”oo v

© X4 D
Cra

—— T S B TR

T e = e

I
24 of 56 TT2r2872019,9:08-AM.

~+



MATH7-8THGRADEWARMUP147Q-Alfredo Alarer T hups#iditemprod.pearsoncmg.com/api/v | /prin/math

& T
82. Find the measures of angles x, y, and z in the figure. m||n. Vo
X /52°
5= (80 R
)(-f §2—- 5 :/JO s . :.x/l_ "
i e :_—‘T'--..._\_\_\_\ ;
A= >
2 TN

Answers 128 /

128
52 — e _— ——ee

83. Iflines m and n are parallel, find the measures of angles a through e. -« 7 2 = m
G2+ €=(F0 b
6/(-'#6’"6{1/50‘62" cfd  g\e
CC=</7/7 ) < >
e
Complete the following table.
mZas=| g a—+ ¢ = 1§°
Zbh= B -
- ot (13 /67
mLe= : ~i (g
mZaz N e S
mle= Ny A = .
Answers 62 69 + L+a = L F©
* 69 + b+ 64 = 187
" /30 +5 = /§2

69 (%r-fé“‘/{" [ Fo — 3/

dt UG+ 6L =j§> iy ;g/kfﬁwﬁ
dt tl=(72 C e o=

S = =TT EE

25 of 56 T e . S — 7. 1 )
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84, Find the perimeter of the following figure.

ﬁrallelogra/“ em

44 cm

Perimeter = l 1)

() O cem
O sgq.cm

Answers 156

{1)cm

hups://xlitemprod. pearsoncmg.com/apifv | /print/math

[755, b =3F
ﬂ-:Z&%ZW

o= 2(F%) ~ 2037)
/- 86167

(7= /56~

85. Find the perimeter of the regular pelygon shown to the right.

‘{02“\{_\{ 5/)7 53 ¢m

Perimeter =| | {1)

(1Y O em
) sgem

Answers 212

(1) em

p:72 s

pee(5Y)
7-2/1

26 of 56
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86.  Find the area of the given geometric figure. If the figure is a circle, give an exact area and then use
3.14 as an approximation for n to approximate the area. A - ¢ /

Y= *21_" |
- L(vD

4
The exact area of the circle is (1) .
(Simplify your answer. Type an exact answer in terms of x.} F= 40-.€ ﬂ - 77 20.5 )

The approximate area of the circle is : (2) A < 77 [ i« ) (CU. J )

(Simplify your answer. Type an integer or decimal rounded to the nearest thousandth as nee;’iad&) ’9/ ZO N )
M O in. (2) O sqin. ___ _T' o~ =
) euin. O cuin. /4"' (/2 i -
) sqin. O in. A_: 3 /% P
— Z
Answers 420.251 A= /¥ ( 2d.<)
(1) sqin. A= 3o 1 (20,5) (205 )
1319.585 A= 2/ 20.01)
(2) sqin. ﬁ._ /279, c§C :\’
= — e —— _-_‘__-—_‘_‘_-_‘_‘_‘_—
87. Find the area of the given geometric figura. 15m T ————
Trapezpid
L-12m
O
17 m / (/ L
= 2( 07 )
The area of the trapezoid is I (1) A J-Z / ¢ A
(Simplify your answer.) ﬂ = 7 ({7¥1 ’)( 1)
(1) O cum. ﬂ": Ji(BZ)(IL)
O m. B BL
O sqm. A’ - = ( (1)
A= 76(rL)

Answers 192

(1) sqm. @}J
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88. Find the area of the geometric figure. & 1 i 4 cm
. ; <m

i
4 (+35) - “— G i A /]1_2
7-—-(3) = " 7 cm
6 - ‘hJ—L Cj‘r{g-f—s%

,ﬂf{u
i 2'/ (v/ A= (90

The area is | {1) . {Simplify your answe

{1) O centimeters IA"’“ 6 3
(O square centimeters
O cubic centimeters / 7.
Answers 75 —71' 63
(1) square centimeters ' ? S,_
e gy W
89. Find the area of the given geometric figure. 4 mi
] L
l AW«(
9 mi Pral
l . 4 2 mi
m [
14 mi L
| 7>
The area of the figure is ‘ ) | | —ly —~
. & L / ¢ ? Tfo 2
(Simplify your answer.) Aﬁl / ,*‘ L 4
<~ V.{,"
. 2
(1) O mi. </ _ ~ ¢
. e — /____
) cumi. A A— b/ K

O sgmi A’ﬂ%/ A=l12) (1)

— . D

(1) sg mi.

18 of 56 2/28/2019, 9:08 AM
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The area is! (1)

6 cm (Simplify your answer.)
T goea Aol e &

Azlw  pel A
A=) A=)

Grta L @ C//

(1} O centimeters "‘(" ?{
() square centimeters e
() cubie centimeters

~——90 —_—

" Find the area of the geometric figure.

Answers 84

(1} square centimeters

91.  Find tHe area the given geometric figure. If the figure is a circle, give an exact area and then use

22
7 as an approximation for x to approximate the area. @

A=7rt
The exact area of the circle is [: (Hh— A e ( /> )

{Simplify your answer. Type an exact answer in terms of .)
A = 7T ( /J)// >/

The approximate area is l: (2) A' - 7’}— ( /U:J )

{Simplify your answer. Type an integer, proper fraction, or a mixed number.)

' ; e ——————
CA=/00TT >
(1) 8 :-.u in. (2) 8 ,an in, A-':: ?72 (r)’(

O sqin. ) cuin. 2
fre 4 (1)
7 [ZL0

{1) sqin. _ -2’—4 .
e A= = (1) e
(2) sqin. /_]-——, 2 2‘7(/ J*’/

' A= 2200
—

Answers 100n
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92. 22
Find the JIF.'coIun:;né'f:‘;;.area of the solld Give an exact answer and then approximate using —- 7 r\
- * . -

for x. . = [g ‘,_, V 3’7"r7

- L D _\'\ E 5.’7- (ﬂ
r e
r- 1 (li)Q—/ e 3&[7 (7))

The exact volume is (1) e %/ff{7 2"—‘,)
(Simplify your answer. Type an exact answer in terms of n.) 2 w
The approximate volume is l 2) y 3

(Simplify your answer.) V . q 7 7 ﬂ
The exact surface area is (3)

(Simplify your answer, Type an exact answer in terms of x.)

The approximate surface area is (4)

{Simplify your answer.)

(1) O inches (2) O inches (3) O inches

() square inches () square inches () square inches () square inches 37
(O cubic inches () cubicinches {) cubic inches { cubic inches — !Q
Answers 972x 5‘- 47//’ Td = V/ __() r
(1) cubic inches = 417 ( ?)

- 2L
sose S = g ()5 S )" 2,
{2) cubic inches _S': €(/73’(g1 ) g (f'(_%) /)/g) [O |’j 7
w5032 o)) 717%
2/ )
10182 ;g‘l 7 5 ‘ ’L

7 5

i (ﬁ /c)(i >

{3) square inches

30o0f 56 2/28/2019, 9:08 AM
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" Find the volume of the solid. Give an exact vo[ume and then approximate using ? for n.

D=F r<+0 r=%(7 N\
. re § yzury (Bea2
The exact volume is {1) @ lf: 77 (C/) 1(34) I/ - %Z v ¢ H

(Simplify your answer. Type an exact answer in terms of m 1
T (fY35) = 224t
The approximate volume is! (2) . Z r,,‘ ( /L) (3 ¢ ) V 7 ( "f) (? 7)

(Simplify your answer. Type an integer, fraction, or mixed number.) = _é_Z_ 3

(1) O inches {2} O inches :”j 7z
(O square inches (O square inches V" 6‘2 Cfﬁ (/’ % (/(9)(:"{)
() cubicinches (O cubic inches V—- / 3792 f

Answers 624n

{1) cubic inches V =

1
1961 7

{2) cubic inches

94. Find the volume of the solid.

n
S

3
Y

2
Thevolumeis| (1) . {Simplify your answer.) V o 3[ S A
(1) O centimeters Vl WA (Sj rd [f/

(O square centimeters
) cubic centimeters l/ 3/‘ / Jj/ ¥ ) () 7/
Answers 150 (/ = .L f Y )[/ 5)

(1) cubic centimeters
e L/m
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95.  Find how many square feet of land are in the plot shown on the cilen, g0 (o
1&' ".

right. ’: i ( é ; F h) # /1 70 feer
- l(/zo—f 2)02) L

,4’- —Z (ZAN){7‘-’)
Theareais| | square feet. A ~ 79)

{Simplify your answer.) 7
Answer: 7000 A i / U (70)
A 7:’ B .
__-—--.—_— — = — = —_——

1

96, Find the exact volume of a waffle ice cream cone with a 3-in. diameter and a | 3in | U =S ;.’-‘ﬁ/‘ 24
<

(/= jL r7(l.s) (75)

height of 15 inches.
S & T
V= Vi) 75)

f
= ZD 15 in.
. (1 B
r= '-9 ) Ve 7 8.c) (1)
V-’:' 2_ y'_ 33073'_7’]“
The exact volume of the waffle ice cream cone is ] (1) - 3

(Type an exact answer in terms of r, Use integers or decimals for any numbers in the expression: 7
= [(e2 5 Y7

(1Y O sqin.
O in.
O euin.

120 feet

Answers 11.25n

(1) cuin,

97. A computer has shape of a rectangular solid. Find the volume of the computer, with dimensions of 5 inches by 5 inches by

5.7 inches.

‘:'__ r (A-) .
The volume of the computer is : €)] V [' /-/
(Simplify your answer. Type an integer or a decimal.) V—_- (f‘) ﬁ' / 6’, 7 )

"o = 25 (57)

O sain V7 /C/,?é 50

Answers 142.5

(1) cuin.

/F_— B ™

2/28/2019. 9:08 AM
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it iy

98. Find the area of the shaded region. Use the approximation 3.14 for . D D’) % N
= L( Sy Hin. 7
Y / 'f‘// . Y
o R T

The area of the shaded region is approximately { (1) V-
{Simplify your answer. Type an mteger or a decimal.)

ASEQITY G Curdd /7 3(
1 O in /4?[—"\/ A=y

sqin. < S, .
Qun Ay Tt

p— L
A-e) AT
Answers 416.24 Q// A’ > / ((Zta (22
A=

{1) sqin. 3’ Y 9’5’ ({)
A= (57776
99. Solve the equation. _S-‘j“fb < - '-‘f/ 27*“)
-5y +2= -4(2y +4) —sv) t< ‘—’-"’79 ~/ G
y y Cey s ~/c

O A, y= (Type an integer or a simplified fraction.) 53 'f Zj Z —_/?/‘__‘7 i ?f

() B. The solution is all real numbers.

(O €. There is no solution. 3 j = —/ Y
— - ’
39 = ,33_
Answer: A.y= -6 (Type an integer or a simplified fraction.) 2 -
e o C=
100. Solve the equation, /3X —5 = [#79X

(B3X—Zr x5~ (7 /90X
[ 3 X T/0x—F 6

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

/3)( —/OX = /0¥ F6—1OX

13x-5=1+10x

OA, x= 3 - ¢

() B. The solution is all real numbers. )( -

(O C. There is no solution. 3X z 6
3 3

Answer: A.x=i : | e
I C X=<C .
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~$(ix—G) <
101. Solve the equation. —/ O —+ 20 T yx
- 5(2x - 6) = 5x —fo X ‘fé{) —38 = $x—3 o

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

AL O W-B Z

O A x= (Simplify your answer.) /O —x = S" —30 ___/‘,(
() B. The solution is all real numbers. — -3
() €. There is no solution. —/y X =

—/ X - "'? J

Answer: A, x= [Z {Simplify your answer.) - & -‘/ "

s o (=2

102, Solve the equation for x. ‘-‘i ()(,. (f:) ~¢ <~ 3 ﬁ/
B(x-4)+2= 34 “J)(—-B(,—f-¢ = -3
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
Gx—39 =-3%
O A x= (Simplify your answer. Type an integer or a fraction.) 6 )( 3// % -~ =3 ,{_{, 2.¢

(O B. The solution is all real numbers.
(O €. There is no solution. 7 )Q =
GX -0
Answer; A, x= li' (Simplify your answer. Type an integer or a fraction.) q ﬁ
et T T i ——— e - (— _H__,_.-—J
103. Solve the equation. §—~2 (Q —( )< Y+
§S—2&+t1 = ¥FA_
—Ih+] T ¢

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
—2a—+P~p< (A1
OA a= (Simplify your answer. Type an integer or a fraction.) Z G_ < A — 3
—dA — A T RR—-3—06
~3g = -3
~—3 5 = =3
Answer: A, a= [I] {Simplify your answer. Type an integer or a fraction. )(_7 3

— e S S

5-2(a-1) = 4+a

() B. The solution is all real numbers.
() €. There is no solution.

104. Solve the equation. "'2‘7 I S92
~2y-15=5y+13 —l9 — '9’4"1/5’ S9O+(d3+ (5
e e ] + 27

Select the correct choice below and, if necessary, fill in the answer box to complete”your choice,

| =y —sy =594 29—5g°
O A, y= (Type an integer or a simplified fraction.)
O B. The solution is all real numbers. —7) 7 =
() €. There is no solution. ___7 G ,Z:Z
—

Answer; A.y= (Type an integer or a simplified fraction.) -7 TP ‘
— _ _ iy EAR S
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2“( (1) + §V=~4p) | ZH/ / T s
2y =

24 - —,c

105. Solve the equation.

!

1 z,((;)—,«-y(nc—((()f
7 j_xﬂf_g_q__’ P4

Select the correct choice below and, if necessary, fill in the answer box to complete your choicg’

2
ZX+

-4|<.n

O A. =
() B. The solution is all real numbers.
() C. There is no solution.

Answer: A. x= -3 I

106, Solve the equation for x. 47 3) _ /5
25X —/ s T Lyx—({§
5(5x - 3)=26x-15 »
i A LK~ Y
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
sy = i1y X
OA. x= (Type an integer or a fraction. Simplify your answer.)

24—l AT trd—1

() B. The solution is all real numbers.

() €. There is no solution, O — O
Answer: B. The solution is all real numbers. @5)’ -Lr vy rs W
Aamb. #53y
107. Solve the equation for x. X — 9 = Y (xX—1 ) T
8x-9=8(x-1) E— = = Fx —%

N~ G4H T Ix —F +4

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
Fx = 8x—+/
O A, x= o _ ~ {Type an integer or a simplified fraction.) . f//
O T sauon B¢ —8x < & | —gx

. The solution is all real numbers.

() €. There is no solution. O ‘:F {
Answer: C. There is no solution. M"/ 2 (5 A0 < ‘-"/ “ @

e ————

108. Solve. . ._ 0. 8x —<, [ = 4.7 -
0.8x-4.1=07 08X~ 1+ %7 = 0.7+y(

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O X = %?¥

- —

OA. x= {(Simplify your answer.) q 7
() B. The solution is all real numbers, _Q_& = 0 f
() €. There is no solution. O i -

Answer: A, x= E} {Simplify your answer.) @

— it

—————

350f 56 2/28/2019, 9:08 AM



MATH7-8THGRADEWARMUIP1470Q-Alfrede-Advarez— =i https:/xlitemprod.pearsoncmg.com/apifv I /print/math
Br—15=7x—23
109. Solve the equation. I~y % = TA— 2 44 3
8x-23=7x-23 ? ( — 7 < |

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

3/( 7& - 7K ~7X

) A, x=
(O B, The solution is all real numbers.
(O €. There is no solution.

Answer: A. x= 0

“Ea—re I —
———
110.  The perimeter of a geometric figure is the sum of the lengths of its X centimeters
sides~The perimeter of the pentagon (five-sided figure) on the right N _ .
|%.;%ntimeters. X centimeters X centimelers
ite an equation for perimeter.
b. Solve the equation in part (a).
c. Find the length of each side. 3x centimeters 3x centimeters
Xt e X +3KF3X =45
a. Choose the correct answer below.
. IXAAX A X+IXF3 = Fs
« 9% =45
(E'J/B. X+X+X+3x+3x=45 f )( = 9’ 'y
(O C., x+x+x+3x+3x=9 7)( _ (fg'"
O D, x+x+x+x+x=45 ‘7 = .-ﬁ-—
b.x= : (Simplify your answer.) (/_’—f__-—\
X=5 >
c. The shorter sides have a length of | 1 (Simplify your answer.)
The longer sides have a length of’ i {2) (Simplify your answer.)
(1 O cm. (2) O cm. fh [P < -
wrler Stcfe = & =
O em?. O em’. - I
Answers B. x+x+x+3x+3x=45 @' {f 39( 3( S’) = / r \.
5 e e
5
{1) cm.
15
{2) cm,
.._';___,_..-—__ —— =L e — —— e — T —
I
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111. A toy ball in the shape of a sphere expands and contracts. When it is completely closed, it has a diameter of 8.5 inches.
Find the volume of the sphere when it is completely closed. Use 3.14 for .

4
(Hint; the volume of a sphere of radius r is gnra. )

The volume of the sphere is approximately | l (1)

{Round to the nearest whole number as needed.)

mon VI EGud (4,
8:::: (/:‘ ;_f.(;,/sé) /(/ll')ﬂ/l;r)/y?i)
e (a0 (760 70rGe0)

Answers 321 - _ 21, 3F2078 32
(1) cuin, V yéq /7661—’ V‘— } ? ’ /
By : Ve el
112. Substitute the given values into the given formula and solve for the unknown variable. V = 77 I 2

3
4 g e
V= Snrs, r=2 {(Volume of a sphere) (Use a calculator approximation for .} (/- %(— (3 o/ ,‘) (&)
V= % (3.0¢) (DD
Vo . {Type an integer or a decimal. Round to the nearest tenth as needed.i/‘_ % ( 2,/ y) /j /

Answer: 33.5 V-:- 3 ?.))’f Vu /a) W Loy 3; 75‘3}

e T A A N T
113. Solve the inequality. Graph the solution set and write it in interval notation.
oy < -5
2x< -4
ZX -7
Choose the correct graph below. "'Z C 2
O A, lll:lll}li‘;OB.*—l—i—l—l—-l—-f-(-l-i-l-I-l-l-H-l-b)
5-76-543-21012345678 B876-54-32-2-1012345678

O C. “Cmiii——_———————> () D, <d——j———t—

—
~N A
[
-9
w
[+

B7H6-54-3-21012345678 -8-7-6-5-4-3-2-10
() E. -t —ipp——————p- () F,
8-76-54-32-1012345678 B76-54-32.1012345678
The solution to the inequality 2x < -4|sI o e
{Type your answer in interval notation. ) @9\_

Answers -

D. 87-654-321012345678

(-00,-2) (A o// -- 2)

\‘-\_‘_'_'_‘_‘—‘—-—._
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—_—

114. Solve the inequality. Graph the solution set and write it in interval notation. —_—

-8x<32

Choose the correct graph below.

O A, Cliip———————————-> () B,

B8-76-54-3-210123456738

O C. ittt ————————+> O D.

8-76-54-3-2-1012345678

() E, i pipueipjasmaimme () F,
8-76-543-2-1012345678

The solution to the inequality - 8x <32 is ! l.

{Type your answer in interval notation.)

Answers
B -B8-7-6-54-3-21012345678

[-4.00)

B876-543-2-1012345678
B876-543-21012345678

8-76-54-3-2-1012345678

- FX< 3¢

—_ . 3(_ a
7)\ >/ :f_‘ Wf_jc £ \

—f

. (TR % C//fjn‘r
Xz~

€ row g J

- --'{-’

115,
-0.7y< =56

Choose the correct graph below.

(O A, Cmtmimpdiaitaiotion) > () B,

Solve the inequality. Graph the solution set and write it in interval notation,

8 6 4 2 0 2 4 6 8 1012 -8 6 4 -2 0 2 4 6 B 10 12
() C. “Cmmimiainimmimt———] > () D, .infi;ﬁﬁZT\
B 6 -4 -2 0 2 4 6 8 1012 4 6 44 -2 0 2 4 6 8 1012 N5t Turn
alliscbw Criy
The solution set in interval notation is . - 06 7j< -5, C / >
— —S, ¢
Answers 0'77 > —
*—Ov 7 ""0* 7
B 86-4-202 428 81012
(8,00) (TO\
i ¥, >
116. Solve the inequality. Z V-5 < FxX—+15

2x=-5<8x+25

The solutionsetis| |, (Type your answer in interval notation.)

Answer: (- 5,0}

2X— s/ < FXALr+4yT

2x & Fx + 39
2X— gx < Bx 3o~ 7X

18 of 56
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117.
Find the x- and y-coordinates of the point C. Ay
7 ¢
1 [
The coordinates of C are I . 44
{Type an ordered pair.) 2'
T X
] ] L) Li 1 T ] »>
6 4 -2 | 2 4 6
-2
-4
-5

Answer: (2.5)

390f 56 2/28/2019, 9:08 AM
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" ——
For the equation, find three ordered pair solutions by Ay
completing the table. Then use any two of the ordered pairs 10
to graph the equation, 8_'
1 |
y = Ex 6_
4
Complete the table below. 2_‘
X y 1 x
0 RS WS S S T =TT T >
0 8 6 4 2 | 2 4 6 8 10
-2 -2
4 i
Use the graphing tool to graph the equation. _6;
-8

Answers D
-1
2
'-..‘_H_H‘
SEEE e
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119.
For the following equation, find three ordered pair solutions Ay

by completing the table. Then use the ordered pairs to i
graph the equation. &_'
y=-2x+3 5;
Find three ordered pair solutions of the given equation. 4“_
2

X y J "

0 L] L) ] ] M u | i 1 L 1 M T J 1 >

10 -8 6 4 -2 ] 2 4 6 8 10
U 2
2 | -4
Use the graphing tool to graph the line. -6
-6

Answers 3

-
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120, ——
1’9' Graph the equation.

y=2x+6

Use the graphing tool to graph the line.

»>
20 -16 -12 -8 - 4 B 12 16 20

Answer;
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121.

Graph the linear equation. o Ay
1 -

y==25x+2

Use the graphing tool to graph the equation. B+

—
[ =]
o
on
ES
'
o
N
e
fo
-
—
[=]

Answer:

13 of 56 2/28/2019. 9:08 AM
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122,
Write the statement as an equation in two variables. Then Ay
graph the equation. .
de y-value is 3 more thanm} B'_
e LN
64
Write the statement as an equation in two variables. 4_‘
(Type an equation using x and y as the variables.) 2’_
X

Use the graphing tool to graph the equation. 10 8 & 4 2 1 274 6 8 1‘0=
-2
N
-6
-6
-10-

Answers y=x+3 Lj = )('_"'3
T
B
104
\
123. Find the slope of the line that goes thr%lgh the gf)f’en p?/i‘nts. G—/ o) —_ _f)
s [ B
(- 10, -3)and (=8, =7) -3+7
[ A
'(I —y )”7 e —o + 3

“
Selecme ccm{-ct cho{'é’ belom'r' and, if necessary, fill in the answer box to complete your choice.

O A. The slope is . (Type an integer or a simplified fraction.) - -
() B. The slope is undefined. ik

Answer: A. The slope is E (Type an integer or a simplified fraction.

44 nf 54 2/28/2019, 9:08 AM
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e () =7

124. Find the slope of the line that goes through the given poigjs. (—73 7 C -i)

(-8, 5)and (-8, -5) 7/ ___--;9‘ y e
X . = z z I -
Select' the\/gorrect{ﬁoic:\g iiélow and, if necessary, fi I'i in the answer box to complete your choice. —77¥

/7

() A. The slope is . (Type an integer or a fraction. Simplify your answer.) /7’) T
() B. The slope is undefined.

Answer: B. The slope is undefined.

o T J=ry
125. Find the slope of the line that goes through the given points.
v g (~10) o)
{ ¢4
(-10 4)and(0 1) /y] -
Ay ¥—/
Select t]-:e correct ci‘Touce‘BTalow and, if necessary, fill in the answer box to complete your choice, /17 -
V-
O A. Theslopeis . (Simplify your answer.) o
() B. The slope is undefined. =
- 3
3 -
Answer: A. The slope is T . (Simplify your answer.) / O

o A o

-

— = i
126. Find the slope of the line that goes through the given points. Py = E 5'—)) 2 ))
(4,5) and (8,5) j—‘-:—j" ! ’

~ 5=y

X\ X: 4 1 L —
Sele'ct the correct ch%fce below and, if necessary, fill in the answer box to complete your choice. }’7 -

() A. The slope is . {Type an integer or a simplified fraction.)
() B. The slope is undefined.

45 of 56 2/28:2019, 9:08 AM



VATH7-8THGRADEWARMUP147Q-Alfredo Alvarez

127.

Find the slope of the line if it exists.

h

(5 “)

46 nf 56
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Select the correct choice below and, if necessary, fill in the
answer box to complete your choice.

) A. Theslopeiis .
(Simplify your answer. Type an integer
or a fraction.)

() B, The slope is undefined.

2/28/2019. 9:08 AM
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128. ] : - —— —— -
Use the slope-intercept form to graph the equation Ay
=Qy— 10
y=9x-1.
8-
Use the graphing toaol to graph the line. Use the slope and ]
y-intercept when drawing the line. 5‘_
44
24
1 X
L 1] 1 T T ¥ 1 T 1 1 L] >
0 -8 6 4 -2 | 2 4 6 g 10
-2
-
-5
-8
Answer:
10
8
&
4
2
I L] [] L Ll
-0 B 6 4
T

129. Find the slope-intercept equation of the line that has the given characteristics. \j - V‘ { = 7"7 ()C-" X b} )
Slope -5 and y-intercept (0,2) m=-s /7 U“+q/(% \2) \j— ( 27 —— ( X— ( o ))
R Xy Yy t 7 -
The equation is . —7 = "j’( )(—o)

e ——
(Simplify your answer, Type your answer in slope-intercept form. Use integers or fractions for any numbers in the

equation.) ")»-'Z - "'I'( }()
Answer; y= - 5x+2 j’l _ "'S-)(

_____________ I = ~sxX4 L

Y= +2

e ——— _'_"—'—-—____“_ = - il

—— E—— — m— - —

47 of 56 2/2873019; 9:08 AM



VATH7-8THGRADEWARMUP147Q-Alfredo Alvarez https://xlitemprod.pearsoncmg.com /api/v 1 jprint/math

130.

Find the domain and the range of the given relation.

{(7.6). (9.-6). (5. 3), (- 3.5)} e
The domain is S (Use a comma lo separate answers as needed.) [ 4/
5
The range is «ﬂ: (Use a comma to separate answers as needed.) M 4 ‘7//

Answers 7,9,5,-3 M‘M {7 7 S,/ —35 L ¥ D

6,-6,-35

132.

e

== _Kw’_’_j (& ‘-( I :3? Jﬁ,_ ) /‘/wv[ow

7 B

Find the domain and the range of the relation.
{(8,—4).(-8,-4)(10,-4)}

What is the domain of the given relation?

ﬂ:—_—} (Use a comma to separate answers as needed.)

What is the range of the given relation?

ﬂ: (Use a comma to separate answers as needed.
g "'i ') / J /7 o~ ll v}
/s

ds! G~ T
Answers 8,-8,10

) Vinse < §-40 nech,

Determine if the given relation is also a function, —
{(-6,-1).(9,-4),(56). (-2.3}

Is the relation a function?

Answer: Yes

133.

Determine if the given relation is also a function.

{(-9,-2), (-9,-5). (-9, 1)}

|s the relatlon a function?

Ccfﬁs O ‘7
@( (-—q/j};) (7 ')

NO

AR nf 5

Answer: No
: b

.S'_r.h,q -9 jg_:as Ao % r<e J:[AM

V‘(ML

locts

—_—ee AT 2/28/2019, 9:08 AM
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134, Determine whether the graph on the right is the graph of a function,

% e
Is the given graph the graph of a function? ( 2 / , ) ( 2 / 2 )
O g
@o / o
(WIT A Fonct S10 @
| Answer: No e ?_________?3-:; P ‘/’%) %ﬁ/‘f/ d‘ /7/’,’11 7{ (A’ A/V\__,

i

135.
Determine whether the graph is the graph of a function. y

Is the given graph the graph of a function?

O N

S

Answer: Yes

_..—u-""_"-_‘-_-_-‘".‘-—’—._ —— o -'"f?Z_-a . = :'h“;.
136. Given the following function, find f{ - 3), f(0), and f(3§fx___q___ -'4 o 5, W 3 y

A

—

/(3): sT3)* !‘//

f(x)=5x+5 ,((_3) < J(-3)+s ,/(-0_)': 70/
S — o e /[/3/: GG

O (H) =

f(3)=

Answers - 10
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—
137. Given the followin gfu nction, find f{ - 1), f(O) df(1) s

f(x) =
f<-1)=:
f(0)={
f(1)=

Answers -3
-4
-3

- o

A0 = (O)0)— &

0/ - 0— Y
}/@/:‘—*‘/ '

o= 0)—Y
/(r) ’/////) -

/=y
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Graph the linear equation. Ay

f(x) = 7x

Use the graphing tool to graph the equation. 6

Y

Answer:

51 nf SR 2/28/2019. 9:08 AM
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‘“‘H-...__‘__‘___
1389,
Graph the linear equation. ! QJM
f(x)= -3x+6 a.
Use the graphing tool to graph the linear equation. 64
44
24
1 x
T T Tt T T T >
¢ -8 & 4 -2 2 4 [ 38 10
-2
Answer:
i
o 8 £ 4
~
— - N

\

47 nf &K ;ﬁﬁﬁiﬁ.'ﬂ;os AM
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140.

https:/xlitemprod.pearsoncmg.com/api/v 1/print/math

\\H’“—-___
Graph the function.

f(x) = 4x - 1

Choose the correct graph below.

Answer:

141,

The function V(x) = x° may be
used to find the volume of a
cube with side length x. Find
the volume of a cube whose
side is 6 centimeters.

Answer: 216

142,

If y varies directly as x, find the constant of variation k and the direct variation equation for the situation.
y =9 when x=36 7 :,C)( y l/&r'l'-f_( JV((_.[() & $ X
Find the constant of variation k. _
Y < lex

k= : (Type an integer or a fraction. Simplify your answer.)
g = < (36 )

Complete the direct variation equation given y = 9 when x = 36.

y= : (Use inte any numbers in the expression.) q = 26 ‘(

L1 nf &R

X )l e g
?_‘ - V@ % —k—_ /ﬁj
——
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143. ify varies directly as x, find the constant of variation k and the direct variation equation for the situation.

y=0.7 when x=1.3 @ ‘7 Wflv(} éif(u‘& ‘\f’(

Find the constant of variation k. — / e X e Y { ? 5
: {Round to one decimal placc:/( 0 7:_: /C (‘/ 3) Ai[Oo Z ~
Write the direct variation equatlo l/ 6 S

]

/Ov
0-5 X
Answers 0.5
- @ Oy s g - £ @
144,

The weight of a synthetic ball varies directly with the cube
of its radius. A ball with a radius of 2 inches weighs 4.80
pounds, Find the weight of a ball of the same material with
a 3-inch radius.

) 0 71:-— 5‘—0
/ Sl

_\u

(Type an integer or a decimal.)

Answer: 16,20

145, The amount P of pollution varies directly with the papulation N of people. City A has a population of 416,000 and
produces 260,000 tons of poliutants. Find how many tons of pollution we should expect City B to produce, if we know that
its population is 350,000.

City B produces : tons of pollution.

{Do not round until the final answer. Then round to the nearest ton as needed.)

) <eX
266 a5 = k (9/462)
2 oo 6 ONK

Answer: 218,750

By ()6 Nk
— L e 7

——

ol R S

'_'_..462'{%
y éz((j

\jf— 2/}5 7(@

50 o0 d\)’)

ant he—
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-\-\--‘___‘—‘—— e .--'--——-\.,‘\_. : e e I
146. Find the@w ecircle__— _.___.__._._i —)-:_- 7 ’/ 4 D
- _ - 2

r=301)
_ 11
F~ =

The exact circumference is in.

{Simplify your answer. Type an exact answer, using it as needed.)

The exact area isl sq in. C = 77 D

{Simplify your answer, Type an exact answer, using n as needed.}

Answers 241

144x

55 of 56 2/28/2019, 9:08 AM




MATH7-8THGRADEWARMUP147Q-Alfredo Alvarez

147,
Sketch the graph of the quadratic function and the axis of

symmetry. State the vertex, and give the equation for the
axis of symmetry.

Fx)= =x* -5

Use the graphing tool to graph the function as a solid curve
and the axis of symmetry as a dashed line.

The vertex is :

(Type an ordered pair.)

The axis of symmetry is! ;

{Type an equation.)

Answers

i6 of 56
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